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Cluster: 0255 ptr; resid: 0.14; r/c: 17/79

x.range

upstream meme PSSM #1; e=750

1 3 5 7 9 11 13 151 3 5 7 9 11 13

x.range

y.
ra
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e

upstream meme PSSM #2; e=160

1 3 5 7 9 111 3 5 7 9
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16814
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30960

44047

49433

50630

46994

37596

44055

46993

47259

48417

49450

string −500 −400 −300 −200 −100 −1
49450−0.86

14450−1.36

16814−1.37

49433−1.85

44055−2.18

14145−2.22

30960−2.31

48417−2.55

15862−2.55

46993−3.16

37596−3.27

46994−3.37

22868−3.88

44047−4.16

21538−4.69

47259−6.58

50630−6.87

log10(P) upstream meme1 2 log10(P.clust)=−3.13; 17 seqs; 17 uniq
c(0.5, 2.5)
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